Sunday 28" July 2024

I spotted four very common beginners’ errors.

ERROR 1

One of the most common beginners’ errors is to not open 1NT with a balanced 12 to 14 points.

Opening 1 No Trump is the bid of 1* resort, and it simplifies the bidding. Look at lesson 5 for the responses.
https://www.nzbridge.co.nz/user/inline/4203/NZB%20Beginner%2005A%20-%20Student%20Notes.pdf

ERROR 2

Another error is responding 1 No Trump when it is correct to bid 1 of a suit, or passing instead of correctly
bidding 1 No Trump. Responding 1 No Trump is the bid of last resort.

ERROR 3
Supporting partner’s minor instead of bidding a Major.
ERROR 4

Jumping to show 10+ points.
In 1974 this bidding would have shown a very strong hand. W N E S

Not in 2024,
2y P

1v response shows 6 to 20+ Points and 4 to 8+ Hearts. 1 ¢
2¥ jump response commonly shows 0 to 5 points and 6+ Hearts.

Let’s look at a few examples from Sunday afternoon.

BOARD 2

+109
vK872

What do you open this hand?

Answer INT
About 50% of people opened 1. ¢ KQ1 0
What will you rebid if partner bids 14?

+KQ93
BOARD 3

+K1076
vJ103

; o + Q5
INT says “I am unable to bid a minor because I have less

than 10 points” s Q 1096

I DON’T have 4 or more Spades.

What do you respond when partner opens 1¥?

Answer 14


https://www.nzbridge.co.nz/user/inline/4203/NZB%20Beginner%2005A%20-%20Student%20Notes.pdf

BOARD 4
If partner opens 14 what do you respond with this hand?

Answer 1NT. The bid of LAST resort.

You have 6 points which might be enough for game if partner has 19 points or

even less if they have say 5 Hearts. You do not have enough points to bid 2.

BOARD 6
Partner open 14, what do you bid with

Answer 14

Yes you have a Diamond fit but it is much easier to make game in Spades than in

Diamonds. If you don’t get to game Spades score better that Diamonds.

You can always support partner’s Diamonds later.

BOARD 9
Partner opens 14. What do you bid?

Answer 1 No Trump. The bid of LAST resort.

BOARD 12
Partner opens 14. What do you bid?

Answer: 1v

41052
vQ7s
+J97
+QJ852

+ Q6

46
vK732
*+K7654
952

4 K6532
v104

+ KQO96
+J3

v AK10953

*KQ7
+83



BOARD 1 - The problem 4-4-4-1 Opening Hand

4 4 4 1 Shapes - 4 cards in 3 suits and a singleton can be very awkward to bid. L AQ42
If the singleton is a Spade or a Club (like this) they are impossible to bid correctly.
YA762

Some books will recommend opening 1 Heart on this hand but these are from the ¢+ A1073
UK where they bid slightly differently to us. If you open 1¥ and rebid 2 that will
show 5 Hearts and 4 Diamonds in New Zealand. & K

I recommend that you stick to the basic rules of opening your lowest 4 card suit. You may have to rebid a 4 card
minor if partner bids bids your singleton.

On this hand when you open 14, if partner bids 2& or 1INT (which shows Clubs)
I recommend that you should treat hand it as a balanced hand with 15 to 17 points. No it is not balanced,
but when partner shows clubs this will be the best description.

Iy J3 rN Jo Murphy

+*AJ7542

W will Murphy

4+ K65
vQJ1094
+ K65
+103

dave skinner EJ

4+ 10987
v383
*+QJ4

+ Q986

W N E S

P P 1¢
P INTP 2NT
P 3NTP P
P

Janice Rollinson SJ* K




BOARD 2

+109
vK872
+KQ10
+KQ93

Did you remember to open 1NT with this hand?

If you have a strong hand with (15) 16+ points, you should Double when the opposition open 1NT. This is not a
take-out double as there is no suit to take out of. This is known as a Penalty or Positive Double.

(X +» AK654
Bd2,DIrE |YAQ4

Tricks taken:  FHE

20=N +953

*J7

WV Jude Lipanovic Lynne Field E

+ 109

vK872
+KQ10
+KQ93

433

v 1065
+J372
+A854

W N E s

INT 24 P P
IF

Thus, when North bids 24 that should show a maximum of 15 points. South with a very balanced 8 points
should pass.

Question - Would you describe this as a balanced hand?
Answer: Yes Q 9 7

Would you open it INT - Yes ' J 6 5
It is unlikely you will want to play this hand in 5% instead of the easier ‘ A K8

to make, better scoring, 3 No Trumps.
% A9843

Question - Would you describe this as a balanced hand? Q 9 7
Answer: Actually the Answer is Yes. It is the same shape as the hand

above. v KJ 1 065

Would you open it INT? - NO. Open 1v ’ AK8
You will want to play in 4v if partner has 3+ Hearts and 13+ points.. * J 4 3



BOARD +K1076

Partner opens 1¥. What do you bid with this hand?
Answer: 14 v J 1 03
If you bid 1NT that says you don’t have 4 Hearts or 4 Spades ¢ Q5

SN North
& K1076

v J103 P14 P
¢ Q5 P 2NT P
& Q1096 i

NI West =) East

& 94 & AQJ85

V¥ 864 v 52

¢ KJ10763 ¢ 98

% J38 % A752

¥ AKQ97
¢ A42
% K43

NS: 0 EW: 0

With 5 Hearts and 12 to 14 points we open 1¥ as it is important to get the Majors in before 1NT.
With a balanced hand with 4 or 5 Hearts and 15 to 17 points it is correct to rebid INT

Heart.

P 1s P
P 2NT P
P 4y P

South has a difficult decision whether to pass 2NT or bid on. N S
If South decides to bid on he can now bid 3¥ to show an extra
1v

INT
3v
P



BOARD 4

X sl N a AS3
Bd4,Dirw |¥Q1054

West opened 24 261 W *J3
2000 6 card suit, Nobody can *K763
argue about it not being good. s KQJ1042 46
vg vK732
+Q82 +K7654
+Q84 2952
ol Lo
. vAJ86
> +A109
+AJ10
BOARD 9

r
N Piergiorgio Allegra

Bd 9, DIr N
24+1 N

4+ Q98 4J3
vYAJS v K96432
+Q103 + A62
+K1096 *74

Ww N E S
+1052 14 P INT

P 2¢ P 24
v Q7 IP P P

+J97
+QJ852

Suzanne Jansen SJ_

North has an easy 14 opener. Should East overcall on the East hand? I wouldn’t. It can work out OK as it
happens on this hand but against good players you will be taken to the cleaners when partner does not have
such a good hand.

South bid 1NT the response of LAST Resort.
North bid 24 to show 5+ Spades and 4+ Diamonds
South bids 24. Very happy to have found an 8+ fit.



BOARD 10

Bd 10, DIr E
2NT+2 W

s AK3 » Q965
vQ98 vK10
+J2 + K843
* AKJ53 $042

41074
vAJ7654 FV°
+107
+Q10

2v showed a 6 card suit with two+ honours.
2NT showed a balanced (15) 16 to 18 points.
This leaves a tricky decision for Clare. To PASS or bid 3NT. Pass is quite reasonable.



